
Sub.Code : 218
NEB - GRADE XII

Geography
Model Question [2077 (2020)]

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 1.30 hrs. Full Marks: 30

;d"x ‘s’ (Group 'A')

-clt ;+lIfKt pQ/fTds k|Zgx?÷ Very Short answer questions)

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Attempt any two questions) @x@=$
!= cfly{s e"uf]n eg]sf] s] xf] <

What is economic geography?

@= ;Dejjfb eg]sf] s] xf] <
What is possebilism ?

#= k|zf;lgs zx/ eGgfn] s] a'em\g' x'G5 <
What do you mean by administrative town ?

 ;d"x ‘v’ (Group 'B')

-;+lIfKt pQ/fTds k|Zgx?÷ Short answer questions)

s'g} rf/ k|Zgsf] pQ/ lbg'xf];\ . (Attempt any four questions) $x$=!^
$= dfgj e"uf]ndf cWoog ul/g] ljljw ljifoa:t'sf] pNn]v ug'{xf];\ . $

Mention various subject matter that is studied in human geography.

%= kmnfd pBf]u eg]sf] s] xf] < $
What is iron industry ?

^= g]kfnsf] s[lifsf] ;d:ofx? cf}+Nofpg'xf];\ . $
List out the problems of Nepalese agriculture.

&= k|ljls0f{ a:tL / PsLs[t a:tL eg]sf] s] xf] < @±@
What is disperse and clustered settlement ?

*= pBf]usf] :yfgLos/0fdf k|efj kfg]{ tŒjx?sf] af/]df j0f{g ug'{xf];\ . $
Explain about factors effecting on localization of industry.

qmdzM(Contd...)

;d"x ‘u’ (Group 'C')

-lj:t[t pQ/fTds k|Zgx?÷ Long answer questions)

s'g} Ps k|Zgsf] pQ/ lbg'xf];\ . (Attempt any one question) !x!)=!)

(= g]kfnsf] u[idsfnLg / lztsfnLg hnafo'sf] cj:yfsf] af/]df j0f{g ug'{xf];\ . %±%
Briefly discuss about the summer and winter climatic conditions of Nepal.

!)= vfsf gS;fsf] ;xfotfn] g]kfnsf] e"–:j?knfO{ k|d'v k|fs[lts :j?kdf ljefhg u/L k|To]s
e":j?ksf] j0f{g ug'{xf];\ . %±%
With the help of the sketch map divide the relief features of Nepal into
major physical forms and describe them.
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